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MATHEMATICS

ATROYT F¢QeH n TN I0TY S, =
n? + n SR, IINOIT 3,0 WRRT,
ARAD
(A) 4
(C): 2

B) 1
D) 6

Ix + my = n S I'x + m'y = n' QO

QTR Fo¥Seadnish LowMNDITTS

(A) I'+mm'=0
(B) /m'=m/

(C) Im+I'm'=0
(D) Im+ml'=0

Toswod x2 = 4ay oI (2, 1) VORI
TRt Tt JBeend WP oW
TRoY
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(B) 4
©) 2
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tan x

g
(B) 3
D) 6

(A) 2
(C) 4
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x+y=y+x" 8 wicd IToIE
Uo0

(A) R I :soa;s x 3B y nen,

x+tyzy+x

(B) dos3 I8 Kosd, x K y ReR,

Xty=y+x

(C) domy THYE Xoss, x K y 1A,

x+ty#y+x

(D) 8o=y I Foas, x K y Ner,

X-y=y-x
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MATHEMATICS

If the sum of n terms of an A.P. is B 5o ( tanx‘ )is R
given by S =n? + n, then the common *=0 m -2
difference of the A.P. is (A) 2 B) 3
(A) 4 (B) 1 © 4 (D) 6
<€) 2 (D) 6 .
5.  The negation of the statement “For all :
The two lines /x +my=n arid real numbers xand y, x +y =y + x’f is
I'x + m'y = n' are perpendicular if (A) for all real numbers x and ‘y,
(A) I'+mm'=0 XY Ry Y
(B) m'=ml (B) for some real numbers x and y,
(C) Im+I'm'=0 x+y=y+x
D) Im+ml'=0 . (C) for. some real numbers x and y.,
X+ty#y+x

(D) for some real numbers x and y,
If the parabola x? = 4ay passes through FOTSRE
the point (2, 1), then the length of the
latus rectum is
(A) 1 6. The standard deviation of the data
B) 4 6,7,8,9,10is
© 2 (A) 2 (B) 10
(D) 8 © 2 (D) 10
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7. WOIT I DN IIFTE 10. N9 A= {a, b, c} smon, nee A @ e
Pusnes = E s
PUInees A, B, C risd P(A) = 2P(B) QR 8,002 2,439, Foad, ned
3P(C) = 3 2rinvasd P(B) o3w
(A) 3 (B) 3¢
1 2
A 17 B 77 © 33 (D) 3°
s o 4
© 1 M) 7 |
11. flx)=cos'[x—1 NWIFT e
8. R 539‘ nee {1, 2, 3} © Deved (A) [1,2] (B) [0,2]
Rowogismh wo.am. i R = {(1, 1)} (© ‘[F1,1] (D) [0, 1]
@oon, R
(A) TIPS L Ixnond . i
12. cos (sirr' 3+ cos™! 5) 3 don
(B) B3T3 DR ooz 3
(C) ==nonE ey w8 (Aa) 0
(D) z=mord 2n3, o
) -1
(D) 3T
9. 33 f:[2 ©) — R & flx) = P %
X2 — 4x + 5 Q0T w20, umen, f 3
39,2030 9.0 1
: =1 0110 4
A i) 13. A &S00 A® Q00T
17010
(B) [1,)
(©) (1, ) (A) A (B) 2A
D) [5,=) © 1 (D) 4A
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If A, B, C are three mutually exclﬁsive 10. If A = {a, b, c}, then the number of
and exhaustive events of an experiment binary operations on A is
such that P(A) = 2P(B) = 3P(C), then (A) 3 (B) 36
P(B) is equal to ©) D) 3°
1 2
(A) 17 ®) 171
3 4 11. The domain of the function defined b

(i @) 7% :

f(x) = cos[x - 1 is

(A) [1,2] (B) [0,2]
If a relation R on the set {1, 2, 3} be (C) [-1.1) (D) [0,1]
defined by R = {(1, 1)}, thenR is
(A) Reflexive and symmetric 12, The valvé of
(B) Reflexive and transitive e -

c:os(sin‘1 3+ cos™! 3‘] is
(C) Symmetric and transitive
(D) Only symmetric (Aa) 0

(B) 1

© -1
Let f : [2, ®) — R be the function ;

(D) Does not exist
defined by f(x) = x2 — 4x + 5, then the
range of f is

O 0051
(A) (0, ) :
13. IfA=| 0 1 0 | then' A*isequal to
(B) [1,) 1 00
(©) (1,o) (A) A (B) 2A
(D) [5,) € 1 (D) 4A
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(A) Xswori And ¥ s ¥
(A) 5(31 +ag)
(B) znd, Sn3F
(B) a +a,
(C) sror w3 5 Toacshal
(D) oststwon Sngd (D) 1
gk T 18. A cdoo 3¢ medrodd Snrmng Soinna.
15. ( JA=( Jemdmssn
3. 1 0 1 0 3 |A] = 5 ©B5 |A adj-A| cio
g (A) S ®) 125
2
» (21) 3 (Z_IJ ©€) 25 (D) 625
et 0
1 — cos Kx
el i L Le
xsmx °*
i (3 _2)(0) [3 2J 19, flx) = 1
3 > ifx=0
X*-x a+x b+x 530,809, RCTN LUBFRY x = 0 WoTIIQ,
16. flx)=| x-a x*-x c+x |wog sadFmmen K @ tdodo
x-b x-c 0 (A) i% ®) 0
A) fi)=0 (B) f(2)=
i e (C) +2 D) 1
(©) fl=0 (D) f-1)=0
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14. If A and B are square matrices of same 17. Ifa aa,....... ay are in A.P. then the
order and B is a skew symmetric a -a, 8,
matrix, then A'BA is deanfi] Ot Ariliis
(A) Symmetric matrix By e By
(B) Null matrix 9
(A) 5 (a +ag)
(C) Diagonal matrix
B) &+
(D) Skew symmetric matrix L 8 %
(C) log, (log.e)
; lf[zl] (t())h (kg1
15. A = ol th
K32 R Bl
matrix A is 18. If A is a square matrix of order 3 and
(A) ( J (B) [ ]
32 -3 2 _ (A) 5 (B) 125
o [—2 1 J [2 —IJ ) 25 (D) 625
D
) 3 2 (D) <«
1—cos Kx
xsinx ° ifx#0
X-x a+x b#+x 19. Ifftx)= 1
Bk ifx=0
16. If fix) = x—-a x?-x e+x '
e Sl S 0 is continuous at x = 0, then the value of
then Kis
1
(A) f{i1)=0 (B) f(2)=0 (A) %> (B) 0
(©) f0)=0 (D) f-1)=0 ©) 2 D) <l
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x - d
. f[x)={f:lT+il , ifx#0 23. (re) = e wmori g oo
8y =0 \
og x
MIFT A B WORECIN (A) (1 + log x)?
8,30on 1
(B) (1 + log x)?
(A) 131
- log x
© (1 +logx)
B) 1 %-1
; e
(C) -1a3-1 (D) x(y—-1)
(D) -13v31
3 dy
& ¥l g
24, y=2" +xnumr1x2drzod:o
- iy (A) 6n(n+ 1)y
21, 242 =2%"Y emon 5 O tidoso ®) o 1)y
AR © g+
i
© 27 @) 5 (D) y
25.  OOUR F[8,Beadrieh 2x = y? ) 2xy =K
X 2%
22. flx)=sin™! [1 3 xz) n £1(33) oo TORT vowgen gedrment K2 3
1 1 3o
A) -5 B) 3
: } (A) 4 (B) 22
GELRE S lerti o © 2 D) 8
Space For Rough Work
A-1 N I

Qcollegeduniaﬁ



20. The right hand and left hand limit of 23. If (xe)’ = ¢, then %is
the function
log x
Roy={ el » 320 @ [+ 10g 7
0 , ifx=0 1
B i
are respectively (htke.n
log x
.(A) 1 and 1 © G + log x)
(B) 1and-1 '
s
(C) -1and-1 Y
(D) —land1
2
24, lfy=2x“”+%,thenng;2xis
21, If2¥+2y=2*"Y, thengxxis (A) 6n(n+ 1)y
A 2 (B -2 il
d
2 O © x‘&f+y
(), 20 8 Sy
D) vy
2 = . _l Zr { . ‘)
2. Iff(x)=sin ) , then f'(1/3) is 25. If the curves 2x = y? and 2xy = K
: l intersect perpendicularly, then the
(A) i) (B) 2 value of K2 is
A) 4 B) 242
- % o % (A) (B) 242
©) -2 (D) 8
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log
2. x>0 0mM, — 3 How ek % - [l

= -1)(x=2)(x-3)
(A) e (B) 1 =Alog |x- 1|+ B log |x 2| + C log
1 1 |x = 3| + C <z e5308,3050n A, B 303
€ 5 (D) e

C v t3gfos

. @) 5-1,-5 ®) 2,-7,-5
27.  PIFponT wE 5% U0 FREFT 5T © 5-1.5 ([©).2-1.5

Boed | QxeedFT TOTRIOS BUYFY
(A) 10% . /8]

30. fem sin 2x dx & 3eodn
(B) 60%
P (A) 2e™ (sinx—1)+C

0
(B) 2e™(sinx+1)+C

(D) 20%

(C) 2e™ (cosx+1)+C
(D) 2ei™(cosx-1)+C

1+ x*
28. f1+xﬁaawdm

1
| 2
(A) tan'x+tan”' x¥*+C
3. fcos“x dx & 833030
(B) tan'x+3tan! ¥ +C 5
1
© tanx—3tan £ +C (A) ®) 3
2
T
(D) tan™'x+ % tan~! x2+ C <€) 1 D) 5
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26. The maximum value of = ifx>0

is
(A) e (B) 1

®) -+

o |—

©)

27. If the side of a cube is increased by
5%, then the surface area of a cube is

increased by
(A)
(B)
©)
(D)

10%
60%
6%

20%

28. The value ofj G dx is

29.

30.

x4
"f(x—l)(x ) -3) ¥

=Alog|x- 1| + B log |x-2| + C log
lx — 3| + C, then the values of A, B and
C are respectively.

(A) 5,-7,-5 (B) 2,-7,-5

© 5-71,5 D) 2,-7,5

The value of f eSin gin 2x dx is

(A) 2esi™(sinx—1)+C
(B) 2eS™ (sinx+1)+C
(C) 2™ (cosx+1)+C

(D) 2e5™ (cosx—1)+C

2

1 v+ -1 4
(A) tan”'x+tan”lx’+C 31. The value of f cos~'x dx is
(B) tan~! x +%tan‘l x>+ B _%

i i3

(C) tanlx ~3tan™! x+C (4) = (Blig

Al l -1 TI:2
(D) tan”'x+3tan”'x*+C ©. 1 D) 5
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33.

Fid
3
jf(:_“;dxﬁﬁdo:m
e
n
3
(A) 2 B) 0

eyl (D) =2

J.Iﬂg]{:%ldxmﬁdom

0

35,

y=2x + 1 xowdesd, x = =1, x = 1
AerTEng ﬁ)ﬁgx—@iﬁ Ebt;% tsa:g,mu

BT3B QReEIFTY

= o

(A) (B) 2

© (D) 5

36. ¢, y=(c, + ;) & * 6 3Beaing
(4) Flog2  (B) Flog2 YRS ) S
1 2 gotoows T0eFTTE, %U‘ﬁv'zdgk
© 3 (D) glog2
DELERAT STFOT HRBTT TS oI
3. y? = 8 Jead D y = 2 (A) 1 (B) 2
ovdedonoon  eImE P B3 (D) 4
DREEIFTY
16 37 Ild— d_r——-4- dx ssz33d2
(A) 3 00 IRIND y — 2xy x* cos x &
4 RALEFOET INT, TOTT
(B) 3 0T IR
(A) y=x%sinx+cx?
3
(C) Eﬁddﬁnaﬁﬁ%’: (B) y=xasinx+c
T 2
(D) 3 o s (€) y=sinx+ex
(D) y=cosx+ cx?
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% 35, The area of the region bounded by the
PPN N M J‘ COSX .o i line y = 2x + 1, x-axis and the ordinates
; ks
i x==landx=1is
=
9
(A) 2 (B) 0 (A) 3 (B) 2
©) 1 (D) -2 5
© 3 (D) 5
1
g (34 x) oo
33. The value of | = 77~ dxis 36. The order of the differential equation
¢ obtained by eliminating arbitrary
(A) %log 2 (B) %103 2 constants in the family of curves
; 5 c, y=(c,+cy)ef s
© 3 (D) glog2 |
: ; (A) 1 ®) 2
© 3 (D) 4
34. The area of the region bounded by the
curve y? = 8x and the line y = 2x is
16 37. The general solution of the differential
(A) 3 59 units
equation x2dy — 2xydx = x* cos x dx is
(B) %sq. units (A) y=x2sinx+cx?
3 (B) y=x*sinx+c
(C) 259 units
(C) y=sinx+cx?
8 :
(D) 3 sq. units (D) y=cosx+cx?
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38. | RIS WOt (4, Y) N ASIR LER) | g1, 2f -3+ 20+ ] kavaoal-T+2k
2x
£ &0, (1, 2) WOTHAI s T AoeBnsh wode AIUTY 2@ A T
Rreros =98, Seadoso weloto
(A) 2 (B) TomOn A) 6
(©) oepra3 (D) w©iTTTUD (B) -5
(C) -6
; ; (D) 5
39. XOoRwesi+)+k DA +3)+ Sk A
AABC o maness AB =¥ AC
e L=p
= 42. [axbf+|2-bf=1440%(a]=6
CIORY, BT, TN T, SAQATN A QoTS
—’
B> Berioss w0y Seadodd vog woid b @ v
A) 6
(A) 3‘3—4 (B) 14 =
(B) 3
© 7 D) 14 ©) 2
(D) 4
40. 3 I b nsd DEROINTNT 6 LIy
: 43, omd(1,-3, 4) ADHS s
SO EReTTNTT sinisaj
(A) SOBSCIHE
Wiy | + b
A) [2+b] ® — (B) Se0=0hmd
- =
> b (C) eRabd
©) ]Tl D) [a-1]
(D)  SouRebmd
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38. The curve passing through the point
(1, 2) given that the slope of the tangent

: o -
at any point (x, y) is ‘; represents

(B) Parabola
(D) Hyperbola

(A) Circle
(C) Ellipse

39. The two vectors i + ] + kand i + 3] + 5k

s — el
represent the two sides AB and AC

respectively of a AABC. The length of

the median through A is

14
(A) 32C (B) 14
©) 7 D) 14

40. Ifa and B’ are unit vectors and 0 is the

41.

42.

If the vectors

2i-3)+4k, 21 +j —kand Ai - + 2k
are coplanar, then the value of A is

(A) 6

(B) -5

€ -6

(D) 5

If[a x b*+ |2 - b* = 144 and 2] = 6,
then I-l;| is equal to

(A) 6

(B) 3

©) 2
(D) 4

angle between 2 and B’, then sin g' is 43. The point (1, -3, 4) lies in the octant
(A) Second
- =
—r -y | a * b|
(A) [a+b] (B 3 (B) Third
a-b - =
©) 1_12 (D) |a-b] (D) Eighth
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4. wom> Tovdeaiono x I y-eekeonrt 47. u3TY LPP ob Royes, B[EB[R
% ety CoOKORRAED, © Sesfotd 2ROTTING. Z = 1 1x + Ty &8, Z o
2- TR0 CUOLITRERS CRReR TS DO SRR
m T
A) 3 ®) %
(@) 3 ®) 7
> X
45. (1,2, —4) mcmaoa’%=1;—3= ¥+y=3 - x+3y=9
: (A) (0,5) (B) (3,3)
243 ovdestnt aohs wosd
" Radin i ©) (5.0 (D) (3,2
293 \[293
A T Ol
48. woTH OTesdodd wXnIIng InE
293 \[293
© %9 (D) “49 APFOWT AR, TPEBS  Twd
woroned (0, 3), (1, 1) 0% (3, 0) &G
46. ﬁmmx;z=3_f=z;4axm‘ P, q>0 QT z=pr + qy SADOT Z 3
RSB 2x — 2y + z = § T VOO 4, 8¢ (3, 0) AR (L, 1) 19e,
sine 8RS (A) p=2q
3 3 _9
® 75 ® 5 (B 273
(© p=3q
4 2
© S A 31% -
5\2 (D) p=q
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44.

45.

46.

If a line makes an angle of % with each

of x and y-axis, then the acute angle

3}
made by z-axis is

A

A) 7 (B)

w3

(D)

|

©

The distance of the point (1, 2, —4)

.. Xx=3 y-—3. . z+S5,
from the line 3 —-3 "o B8
293 293
(A (B). =

293 3{293
© %% O

The sine of the angle between the

=D S 5
straight line x3 = 3_45! =z 54 and

47. The feasible region of an LPP is shown
in the figure. If Z = 11x + 7y, then the
- maximum value of Z occurs at

¥

or T *X
' x+y=$ x+3y=9
(A) (0,5) B) G.3)
©) G,0) D) G,2)

‘48. Corner points of the feasible region
determined by the system of linear
constraints are (0, 3), (1, 1) and (3, 0).
Let z = px + qy, where p, q > 0.
Condition on p and q so that the

minimum of z occurs at (3, 0) and

(1, 1)is
theplane2x—2y+z=5is (A) p=2q
3 3 _9
(A) 50 B) 30 (B) p=3
© p=3q
4 2
© w2 (D) 31% .
5\2 D) p=q
Space For Rough Work
Mathematics 17 Lo

Qcollegeduniak
India’s largest Student Review Platform



49.

A 02 B $uSnsL P(A) =

3]

-

=

% P(A N B) =

P(A'/B) o0

L |2

(A)

(B)

o |

b=

©

D) 13

.ot mﬁaﬁi 10 B za;:.imri saag_,

w000 ROTETR MG.&%M Soeed

LS BogsecdhIodo
i v
(A) Toz2a

1023
B) To2s

11
© TJo2a

1013
D) To24

3 qrtevacd

P(B} = "

(D)

(A)
(B)
©
(D)

amn,
RoggneodhIcn

A word PUSCIRA), P(E,/A) =

Bl— — W R]—

51. A, B 0% C Q00 St q,grwo 2,00
mxz,m XZcT,oN vaxs
o -]

Toysaecddodn g,mn 11 Eb-'!b 3

ae0e mxsomi NS

52. P(E)=P(E,) =% oros Tt B, 508
E, i0 S 8 gum PIneens,

35333 P(AIE) =3 B, E@Edhmrﬂ
P(E IA) [evel

A-1
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49. If A and B are two events such that SL.. ‘The: probebility. of solving s problem
: ; by three persons A, B and C
1
P(A) =73, P(B)=7and (AN B) =7, Sadeendaniiy > ia %’ % o %
then P(A'/B) is respectively. Then the probability of
5 the problem is solved by any two of
(A) 3 them is
1
1 A 12
(B) 3
1
1 ®) 3
© 3 :
© e
1
D) 35 1
e ®) §

50. A die is thrown 10 times, the 52. Events E and E, form a partition of
probability that an odd number will the sample space S. A is any event
come up atleast one time is such that P(E]) st P(Ez) == %, P(Ezf A) =

1 1 2 .
(A) 1024 ‘z*and P(AIE2)=§, then P(EIJA) is
: 1
1023 Aa) 3
B) 7024
2
i (B) 3
© Toxa
1024 © 1
1013 1
D) To2a D) 3
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53.

nesA={1,23,4,5 6}, s58nm A &

75 S o [ &)

[X]

REo0BNYRR ieoR

eureony 0sd, 00

(A) 64 (B) 63

©) 57 (D) 58

N Aovosnes Bt mzp;mﬂuai)aazz

57.

58.

P(n) : 2" < n! &TT P(n)&) Zanrteemds

28 ﬁ%miﬁ TRFBOFOTRD)
(A) 2 (B) 3
(C) 4 D) 5

z=x+iywon, z+1|=z-1| )

RO TETTED
WD, Fowomne Mo odn 1024 &I
' A) g (B) =o=woDb
n(A) = 2 swont n(B) o3 :
' ©) xwg (D) y-e8
(A) 512 (B) 20
© 10 (D) 5
55. sin? 51° + sin? 39° & eIe3030 (A) 0 (B) 1
(A) 1 (B) 0 © "¢, O 'c,
(C) sin12° (D) cos 12°
60. (x +y + 2)! 3 SNOBY, WS WA,
' Tone xosd,
56. tan A +cot A =2 &mdtan® A + cot A = s
A B) 142
@) 2 ® 1 (A) 66 (B)
©) 4 D) 5 (€)1 .(D) 110
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§3. If A={l, 2, 3, 4,5, 6}, then the
number of subsets of A which contain

atleast two elements is
(A) 64 (B) 63
(C) - 57 (D) 58

54. If n(A) = 2 and total number of

possible relations from set A to set B is

1024, then n(B) is
(A) 512 (B) 20
(C) 10 (L5

§5. The value of sin® 51° + sin? 39° is
(A) 1 (B) 0

[C) ~pin ¥2F (D) cos 12°

56. Iftan A + cot A =2, then the value of

tan* A + cot* A =

57.

58.

59.

(©) 4

IfP(n) : 2" <n!

Then the smallest positive integer for

which P(n) is true if
(A) 2 (B) 3

D) 5

If z = x + iy, then the equation |z + 1| =
|z~ 1| represents
(A) acircle (B) aparabola

(C) x-axis (D) y-axis

The value of

16C, + 16C, o - 16C6 - 16C. is
(A) O (B) 1

Lot L (D) '7C3

The number of terms in the expansion

Cof(x+y+2z)0is

(A) 2 (B) 1 (A) 66 (B) 142
(C) 4 (D) 5 Y- 38 2l 2110
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1IM0730K (DAY-1, SECOND SESSION)

SUBJECT CODE TIME Question Booklet
VERSION
SERIAL NUMBER
M 2.30 PM TO 3.50 PM |___CODE
TOTAL MAXIMUM TIME MAXIMUM Total No. of MENTIONYOURCET
DURATION | FOR ANSWERING MARKS Questions NUMBER
80 Minutes 70 Minutes 60 60
DOs:

This question booklet is issued to you by the room invigilator after 2.30 pm.
Check whether the CET Number has been entered and shaded in the respective circles on the OMR answer sheet.
The version code and serial number of this question booklet should be entered on the OMR answer sheet and the respective
circles should also be shaded completely,
4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.
5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.
DONTs:

W -

1. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/SPOILED.

2. The 3™ Bell rings at 2,40 pm, till then;
+ Do not remove the seal present on the right hand side of this question booklet.
* Do not look inside this question booklet or start answering on the OMR answer sheet.
IMPORTANT INSTRUCTIONS 1O CANDIDATES

1. Incase of usage of signs and symbols in the questions, the regular textbook connotation should be considered unless stated
otherwise,

2. This question booklet contains 60 questions and each question will have one statement and four different options /
responses & out of which you have to choose one correct answer.

3. After the 3™ Bell rings at 2.40 pm, remove the paper seal of this question booklet and check that this booklet does not
have any unprinted or torn or missing pages or items etc., if so, get it replaced by a complete test booklet. Read each item
and start answering on the OMR answer sheet.

4, Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet.

oINS §,&D B 8,30 WRONG METHODS

CORRECT METHOD @@ ONONCHE"SION N NO
P00 PO® ®®0®

5. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

6. Use the space provided on each page of the question bookleét for Rough Work. Do not use the OMR answer sheet for the
same,

7. Last Bell will ring at 3.50 pm, stop writing on the OMR answer sheet and affix your left hand thumb impression on
the OMR answer sheet as per the instructions.

8. Hand over the OMR answer sheet to the room invigilator as it is.

9. After separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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